AT R
1 L 5

© RAEEAMLUREZER » RARBTHERE - (ATURBEIRES)
© {KERF A LU{EE) - AT LIME BN ZREF -

AR
]| wiE SQRC , SQRH
fERRRE R,
1EENE N kgflcm? 0.01 MPa [ 0.1 Kgf / acm? ]
FEREAEE kgflem? 0.09MPa [ 0~9 Kgf/cm? ]
FERREEE °C 0~ 60 °C
BRAEZTEN -750 mmHg [ 1.0 Torr ]
AERLEEE

© SQRC %%l

IR (224)

B8 (E$R)

EER (SRAR)

EEE

© SQRL &5l

EENE (HRAR)

OBUIR (iMif)hE)

MR (R A)

BE (@)

OBUIR (MthkZ)

A B8 (L )

© SQRH %%l

PU % (or Nylon %& )

O BIIR (i HfB)

CHELIC PNEUMATIC

FFSRIRT

~O-

B8R (MiHHAE)
H (&)

IR (24)

JEENSE (RAR)

© SQRM 5l

B8 (M)

VB (TR
PU% (or Nylon &) ORUIER (i FE)

O}

PU % (or Nylon &)

788 (L3R)

8 8 (M)
j ) VR (REEHF)
L

IR (2B H)

T (R AR W)

EENRE (HER)

5-1.33

e
PU% (or Nylon&)
A B8 (L iR)

sQO
EIART

MSQ[]
KRB 508

SP[]
HEERE

sSQL1J
BERIEE

SQR[J
WIEHEER

sQLlG
BAEHER

SRR

sc
R

Qs]
WEEE

QH[J
FHHBIRS

Qv
28]

QST

ER
HRIZTE

PU &



EERAH R

pecflat-35T R A R RERRR 1
P IERIESI 7
C SQRC 5l
~[AlFsmam AR (RAER) —[B] ALmsm ALEHI
HIETRE B HRE
B HRE bl
©SQRC - [ |-A © SQRC — -B
C SQRH 5l
— [A|ZFimEa A SRR (IR —[B] FLazas Az
Sl il
nd L LM LN
& > b :_—%
Ul gg u i‘ [ rL m
BT Sl
©SQRH-[ |-A ©SQRH-|[ |-B
C SQRL %5l
—[AlF ke A (mERY) _[B] FLimes A
L0 = 1N ‘
f ﬂLgl BERE U ElzpriE]
BERA WLERR

©SQRH - |-A

C SQRM &7l
~[A|Fimes Asrs (=R

BERA

—[B] FLissa Az

LR

5-1.34

\

BERA



EEEAHE R
FitiEsE — SQRC, SQRH #75| CHELIC PNEUMATIC

C SQRC R%| EHiri¥ LR

NFIRE
= — e = =
BE | FE Azt A B c a6 L g AREEE E=
@D | Rc (PT) H mm?2 (9) sSQJ
@4 M5 |SQRC 4-Ms5-[]| 36 30 13.9 10 317 10 3.9 115 IR
1/8" |SQrRC 4-01-[]| 6 245 | 139 10 275 10 4.9 105
@6 1/8" |SQRC 6-01-[]| 6 288 | 156 | 124 | 318 12 125 155 MSQL
1/4" |SQRC 6-02-[]| 9 273 | 156 | 124 | 335 14 125 22 EARELEER
@8 1/8" |sQrc 8-o01-[]| 6 305 | 168 14 335 14 125 21
1/4" |SQRC 8-02-[]| 9 29 16.8 14 335 14 195 21 SP[
. 310 3/8" |SQRC 10-03 -[ ]| 12 564 | 203 25 62.4 24 58 45 P
1/2" |SQRC 10 -04 -[]| 15 605 | 203 28 68.5 27 58 505
@12 3/8" |SQRC 12-03 -[ ]| 12 584 | 223 25 64.4 24 58 42 $QOJ
1/2" |SQRC 12 -04-[]| 15 63 223 28 71 27 58 475 -
2G .
oD R RE SQR[]
@ @ 3 = = PIEEER
[ & | 7E ot r | s | ¢ oo | L | 5e mxwEm| ==
@D |NR/NPT H mm2 (@)
H }i} o 5/32" |NR10/32"|SQRC 53271032 ]| 3.6 30 13.9 10 317 10 3.9 115 sQ1G
| |
e o 1/8" |sQrc s/32'-01 -[]| 6 245 | 139 10 275 10 4.9 105 EHEHER
= - 14" 1/8"  |sQre 1/4'-01 -[]| 6 288 | 156 | 124 | 318 12 125 155
I 1/4"  |sQre 1/4'-02 -[]| 9 273 | 156 | 124 | 335 14 125 22 o
< t—f—t—1 - . - F:OEE-EE
5/16 1/8"  |SQrc5/16'-01 -[]| 6 305 | 16.8 14 335 14 125 21
! Bl PT 1/4"  |SQRC516"-02 ~[]| 9 29 16.8 14 335 14 195 21
el NPT 3/8"” 3/8" |SQRC 3/8"-03 -[]| 12 564 | 203 | 25 62.4 24 58 45
1/2"  |SQRC 3/8"-04 —-[]| 15 605 | 20.3 28 68.5 27 58 50.5
— s - osc
© SQRH A5 Zi@¥FILiEmE Bz
NHIRE
BT - 5 c oG BNEEE [ QsL
2D * mmz2 ) EE
@4 SQRH 4 — 4 39.4 139 10 4.9 6
26 SQRH 6 — 6 452 15.6 12.4 12.5 10 QH[]
28 SQRH 8 — 8 48.9 16.8 14 19.6 13 FEFIR
KRS
P = v
&S et o . o ARHER T Qv
@D = mmz @) BB
5/32" SQRH 5/32" — 5/32" 39.4 13.9 10 4.9 6 QST
14" SQRH 1/4" — 1/4" 452 15.6 12.4 125 10 P,
5/16” SQRH 5/16" — 5/16" 48.9 16.8 14 196 13 BREE
NHIFRE PU &
BER | BR BREEE 52
]
@b1 | @Dz B B E mm2 ©
@10 210 SQRH 10 — 10 72.6 20.3 203 25 58 615
@12 @12 SQRH 12 — 12 76.7 223 223 25 58 57
KRR
BR | BR ) BREEE =
1
@b1 | @Dz Bt B CL | ¢z | @6 mm2 ©
318" 38" SQRH 3/8" — 3/8” 726 20.3 203 25 58 615
12 1/2" SQRH 1/2" — 1/2" 76.7 223 223 25 58 57

5-1.35



AT R
WiHiE5E — SQRL %3l

Hd
I

TR

AZA]

Hl

C SQRL R LB FREE

NHRE
| %% 7% | x| a|B|c|E|gc| L |Mm wumEW EN
| @4 M5 |SQRL 4-M5-[]| 3.6 |19.8 [13.8 |31.3 | 10.5|16.4 | 10 3.9 6
| 1/8" |SQRL 4-01 -[]| 6 |22.4 /138|313 |10.5|20.2| 10 4.9 10
1/4" |SQRL 4-02 -[]| 9 |241|13.8 |31.3 |10.5|23.4| 14 12.5 16
26 M5 |SQRL 6-M5-[]| 3.6 [225|15.7 | 38 [125| 19 10 3.9 8.5
(i | 1/8" |SQRL 6-01 —[]| 6 259|157 | 38 |125|22.8| 10 4.9 10.5
EE 1/4" |SQRL 6-02 —-[]| 9 |[27.7 |157 | 38 |125 271 | 14 12.5 18
3/8" |SQRL 6-03 -[]| 9 [284 [157 | 38 |125|278 | 17 12.5 225
@8 1/8" |SQRL 8-01 —[]| 6 |[27.6 |16.8 |41.5 | 143|244 | 12 4.9 13.5
1/4" |SQRL 8-02 -[]| 9 |29.4 |16.8 |415 |14.3|27.7| 14 19.6 19
= < 3/8" |SQRL 8-03 -[]| 9 |30.1(16.8 415|143 (284 | 17 19.6 24.5
[‘—A 8 @10 1/8" |SQRL10-01 -[]| 9 |31.6|204 | 75 |17.8|25.7 17 4.9 27
L TN = 7ig 1/4" |SQRL10-02 —[]| 9 [33.4 204 | 75 [17.8| 29 17 19.6 29
JL " 3/8" |SQRL10-03 —[]| 9 |[34.1 (204 | 75 |17.8|29.7 | 17 58 31
R 1/2" |SQRL10-04 —[]| 11 [36.1 (204 | 75 |17.8 327 | 21 58 46
. @12 1/4" |SQRL12-02 -[]| 9 |382|232|783|21.2|322| 17 4.9 36
3/8" |SQRL12-03 -[]| 9 |36.9 (232|783 |21.2 (322 17 58 36
1/2" |SQRL12-04 -[]| 11 |38.9 |23.2|783 |21.2|352| 21 58 50
HERB
ER| F® Izt A B c E lgc| L g BAREEE | 5828
@D |NR/NPT H mm?2 (9)
5/32” |NR10/32”|SQRL 5/32"-10/32-[ ]| 3.6 |19.8 |13.8 |31.3 | 10.5 | 16.4 | 10 3.9 6
1/8" |SQRL5/32'- 01 -[]| 6 |22.4|13.8|31.3 |10.5|20.2| 10 4.9 10
1/4" |SQRLS5/32'-02 -[]| 9 |24.1 |13.8 |31.3 |10.5|23.4| 14 12.5 16
1/4” |NR10/32"|SQRL 1/4"- M5 -[]| 3.6 |22.5|15.7 | 38 [125| 19 10 3.9 8.5
1/8" |SQRL1/4"-01 -[]| 6 |25.9 |157 | 38 |125|22.8| 10 4.9 10.5
1/4" |SQRL1/4"-02 -[]| 9 |27.7 |15.7 | 38 |125|27.1| 14 12.5 18
3/8" |SQRL1/4"-03 -[]| 9 |[284 157 | 38 |125|27.8 | 17 12.5 225
5/16” | 1/8" |SQRL5/16"- 01 -[]| 6 |27.6 |16.8 |41.5 |14.3 |24.4 | 12 4.9 13.5
1/4" |SQRL5M16"- 02 -[]| 9 |29.4 |16.8 |415 |14.3|27.7| 14 19.6 19
3/8" |SQRL5/16"- 03 -[]| 9 |[30.1 [16.8 |41.5 | 143|284 | 17 19.6 24.5
3/8" | 1/8" |[SQRL3/8"-01 -[]| 9 |[31.6|204 | 75 |17.8 257 | 17 4.9 27
1/4" |SQRL3/8"-02 -[]| 9 |33.4 |204 | 75 |17.8| 29 17 19.6 29
3/8" |SQRL3/8"- 03 -[]| 9 |[34.1 (204 | 75 |17.8|29.7 | 17 58 31
1/2" |SQRL3/8"- 04 -[]| 11 |36.1 |204 | 75 |17.8 327 | 21 58 46
1/2” | 1/4" |SQRL1/2"-02 -[]| 9 |382|232|783|21.2|322| 17 4.9 36
3/8" |SQRL1/2"-03 -[]| 9 |[36.9 (232|783 |21.2|322| 17 58 36
1/2" |SQRL1/2"- 04 -[]| 11 |38.9 232|783 |21.2|352| 21 58 50

5-1.36



| EZERAG RS
<)
@’ WitiEsE - SQRM R35 CHELIC PNEUMATIC

© SQRM FR5I HfdR 5F 3% 1L 258

AHIRE
P T 3 3/ =3 =
BE st T8 | ¢ 2| E |gG | L | HE|HE BXEA | EE | sqn
@D M Hi | H2 mm ()] BERT
@4 | SQRM 4 -4 | M12x1 | 121|138 |16.2|105 | 49 | 14 | 14 4.9 2
@\ @6 | SQRM 6 - 6 | M14x1 | 17 |157 | 17 |125 | 55 | 17 | 17 125 25 MSQ[]
J y @8 | SORM 8 - 8 | M16x1 | 18.8 | 16.8 | 18.8 | 143 | 63 | 17 | 19 19.6 35 RARLIESR
@10 | SQRM 10-10 | M20x1 | 21 |204 | 21 |17.8| 98 | 24 | 24 58 115
SP]
@12 | SQRM 12-12 | M22x1 | 236 |23.2 | 21.2 | 21.2 | 103 | 24 | 27 58 135 S
sQr1J
HERB EER IR
= b ¥ 7 =
ME =f - T8 | cico | E oG | L BB HE SuNEE =R
OL \ @D M Hi | H2 mm (9) SQR[]
ol 4 + s
R e e B 1/4" |SQRM 1/4"-1/4" | M14x1 | 17 (157 | 17 |125| 55 | 17 | 17 125 25 LR
g 5/16” |SQRM 5/16” - 5/16"| M16x1 | 18.8 | 16.8 | 18.8 | 14.3 | 63 | 17 | 19 19.6 35
? c1 | H He [ co sQllG
L 3/8" |SQRM 3/8"-3/8" | M20x1 | 21 |20.4 | 21 |17.8 | 98 | 24 | 24 58 115 7
EEAEHEER
$R %58
Isc
ERLS
Qs
WIS
QHO
FENBIRA
Qv
B
QST
AR
WS
PU &

5-1.37





